
Roll No. ..........................

Y – 158 / Y– 159 / Y– 160 (A)
B.Sc. (First Year) (SPECIAL) EXAMINATION, August 2021

(SECOND CHANCE)

CHEMISTRY

Paper – I, II, III

PHYSICAL CHEMISTRY/INORGANIC CHEMISTRY/ORGANIC

CHEMISTRY

Time : Three Hours

Maximum Marks : 29 + 28 + 28 = 85 (For Regular Students)            Minimum Pass Marks : 33%

Maximum Marks : 34 + 33 + 33 = 100 (For Private Students)            Minimum Pass Marks : 33%

uksV& lHkh iz'u gy dhft;sA
Attempt all questions.

[k.M (v)
(Section A)

1. oxZekè;ewy osx] vkSlr osx ,oa izkf;dre osx D;k gSa \ buesa lEcU/ LFkkfir dhft,A
9/11

What are root mean square, average and most probable velocities ? Find the
relation among them.

2. fdlh vfHkfØ;k dh dksfV fu/kZj.k gsrq fdlh ,d fof/ dk o.kZu dhft,A 10/11
Give any one method for determination of order of a reaction.

3. ukfHkdh; fo[k.Mu vFkok ukfHkdh; lay;u ij fVIi.kh fyf[k,A 10/12
Write note on nuclear fission or nuclear fusion.

[k.M (c)
(Section B)

4. fo|qr ½.kkRedrk D;k gS \ bldk fu/kZj.k dSls fd;k tkrk gS \ 8/11
What is electronegativity ? How it is measured ?

5. VSEPR fl¼kUr ds vk/kj ij NH3 v.kq dh lajpuk le>kb,A 10/11
Explain the structure of NH3 on the basis of VSEPR theory.

6. MkbZcksjsu cukus dh fof/] xq.k o lajpuk dk o.kZu dhft,A 10/11
Write the preparation, properties and structure of Diborane.

P.T.O.



[k.M (l)
(Section C)

7. dkcksZdsVk;u D;k gksrs gSa] blds cukus dh nks fof/;k¡] LFkkf;Ro ,oa izeq[k xq.kksa dk o.kZu
dhft,A    8/11
What is carbocation, give any two methods of preparation and explain its
stability and important properties.

8. (i) MhYl&,sYMj vfHkfØ;k ij fVIi.kh fyf[k,A 5/5½
(ii) 1-3 C;wVkMkbbZu ij czksehu dk 1, 2- ,oa 1, 4-bysDVªkuLusgh ;ksx dh O;k[;k dhft,A

5/5½
(i) Write a note on Diels-Alder reaction.
(ii) Describe the 1, 2- and 1, 4-electrophilic addition of Bromine on 1-3

Butadiene.
9. fuEu dks le>kb, % 10/11

(i) gSyksiQkeZ vfHkfØ;k
(ii) gkWiQeSu foyksiu vfHkfØ;kA
Explain the following :
(i) Heloform reaction
(ii) Hoffmann’s Elimination reaction.
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